Ratio to CMS

1000/c 2do)/d(m_1 + m_2) [1/GeV]

[HEN
<
N

= =
|_\
o C?\: Ooo
T T T T[TTTIT]TIT] IIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I

=

=
<
=

|
<
w

1074

[EEY

0.5

7000 GeV PP

Pruned Jet Mass (anti-k (0.7), 220<p <300, |y|<2.5)

Hle
.
a

m CMS
--3-- Herwig 7.1.0 default
----- ¢ Sherpa 2.2.8 default

Jets
I

& T

.

- .
- L
- .

-

e
=
. a

«
L 11 I|IIII|IIIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| [ L]

(m_1+m_2)/2[GeV]

Rivet 3.1.0, = 7.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


